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Residential Code

Height Requirements

How to solve the gap between the different height
requirements per Code when  a

staircase meets a landing.

Here’s what they
ask you to do.

And here’s the
issue.



1. Respect the Code
(standard)

4. Continuing with the angled 
panel on the landing until

reaching  the proper height.

2. Higher panels on
the stairs

3. Lower panels on
the landing
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Handrail on the stairs
too high.

NOT CODE

COMPLIANT

[
[

Landing too low.
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Landing not high enough
on that gap.
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ALTERNATIVE: 
Handrails attached on the

side of the glass
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